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TAB : 8ER
IH H % & T N 7 Bitkasm (M) =
O FHERE ANE 795,000
FEAHE H200,000 X 3+ A 600, 000
REE /S T4 H10,000 X 3 H 30, 000
HEFY H10,000 X 3 » A 30, 000
HETFY H10,000 X 3~ H 30, 000
SR BB H35,000 X 3~ A 105, 000
@ ZofmFEEE 80, 000
WHEZ g Tx—2r V7 Mg 70, 000
WHE g 10, 000
@ /A F (DO+©®@) 875, 000
@ {HEFL (D X10%) 87,500
B FEEHELEF (O+®) 962, 500
2 AB : EXH
IH H % FE 1 A 7 Btk (M) =
O FHERE ANE 750, 000
AR H200,000 X 34 A 600, 000
RE 7S T4 H10,000 X 3 H 30, 000
HETFY H10,000 X 3 A 30, 000
AR EN I SR H30,000 X 3~ H 90, 000
@ ZoMmEEE 100, 000
BIEHEE T IA4 iEEER 100, 000
@ /N F (D+@) 850, 000
@ HER (BX10%) 85, 000
B FEHLE (O+O®) 935, 000
3AB : OO0
e H % FE B A 7 Btk (M) -
O FHERE ANE 0 H
@ ZOfhFEER 0 H
@ /i (DO+@) 0 H
@ {HERF (@X10%) 0 M
& FEHLH O+W®) 0 H

X1 FHRERE1IALZLZYDEXEFT100FAUTTHDZ &,

X2 FHRERE1IASEYOERBICEOIANEEDRIEN 20D 1LULTHE L,




